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Note : * This paper contains Sixty (60) multiple choice questions, each question carrying

oo [INNHIFRIRRAINIAR

two (2) marks.
* Candidate is expected to answer any Fifty (50) questions.

* In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions
will be evaluated.

Which of the following represents one billion characters ?
(1) Terabyte (2) Kilobyte (3) Megabyte (4) Gigabyte

The factors which are most important in determining the impact of anthropogenic activities
on environment are :

(1) Population, forest cover and land available per person
(2)
(3) Population, affluence per person and the technology used for exploiting resources
4)

Population, affluence per person, land available per person
Atmospheric conditions, population and forest cover

Which one of the following represents the binary equivalent of the decimal number 25 ?
(1) 11011 (2) 10101 (3) 01101 (4) 11001

The University Grants Commission was established with which of the following aims ?
(a) Promotion of research and development in higher education

(b) Identifying and sustaining institutions of potential learning

(c) Capacity building of teachers

(d) Providing autonomy to each and every higher educational institution in India
Select the correct answer from the codes given below :

(1) (@), (b) and (d) ) (@, (), (©) and (d)

(3) (@) (b)and (©) (4) (), (©) and (d)

The session of the parliament is summoned by :

(1) The Speaker of the Lok Sabha and the Chairman of the Rajya Sabha
(2) The President

(3) The Prime Minister

(4) The Speaker of the Lok Sabha

N
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o U YIS H WS (60) Tg-fashedT™ g9 §1 9% T & &Y (2) b T
o et w1 WIF WY T= (50) T F SHW A L
« Ifc Temd (50) ¥ 21fesk Il % IR G A WAW U= (50) T & S A |

. Treafafea § @ S9-91 T eRa e’ o1 gfdfafee st & 2

(1) evEmEe (2) foamamze (3) e (4) fmmETEE

. TR R gHdgufas fReet w1 game fuifa w9 § S wRe gt qeeyul © 2

(1) SFHE, SR IR Ui safa i Suersud

(2) SHEE, yfd =afed gATead, gfd s fH Suersud

(3) SHE, yfd Afe gAIgaan iR HaneHl 1 Sed w4 % ford IUAN S S ATt Gt
(4) aguedy feafaal, SEeEn ok g

. TmAfafga § 9 SH-4 <o 9@ 25 &1 S0 gamE (SR 3feEke) € 2

(1) 11011 2) 10101 (3) 01101 (4) 11001

. Tovafamme srem smim =+t freifea 5 9 fa sevail & fore wfeq foen o o ?

(a) STIHEM % A AR 3= fen & fowma & fag

(b) EEATRA SATH aTel HEAHI 1 Ged T 3% 341 €9 H ¢ W@ & fag
(c) Tirerhl =1 aean fwfor

(d) 9RG & 3 et & *i IS AT HI WETA YSH FH & fag

TR e 1 FRTEl | Hel IR 1 997 HIT

(1) (@), (b) 3R (d) 2 (@), (b), (0) 3R (d)

3)  (a), (b) 3 () @) (b), (0 ¥R ()

. Tue H1 e freifRa # 9 foReek g eted foRan S B2

coo [[IRRUAUERIARL

(1) HeRHT 1 TR o TGN T FH9fd
(2) ImgUfd

(3) ggEHA

(4) TAHAN T TR
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6. India’s contribution to total global carbon dioxide emissions is about :
(1) ~15% 2 ~3% B) ~6% 4) ~10%
7.  In which of the countries per capita use of water is maximum ?
(1) India (2) USA
(3) European Union (4) China
8.  Encoding or scrambling data for transmission across a network is known as :
(1) Decryption (2) Protection (3) Detection (4) Encryption
9.  Civil Service Day is celebrated in India on :
(1) 7% July (2) 215t April (3) 24t April (4) 215 June
10. The South Asia University is situated in the city of :
(1) Kathmandu (2) Colombo (3) Dhaka (4) New Delhi
11. Which is an instant messenger that is used for chatting ?
(1) Google Talk (2) Altavista (3)  MAC (4) Microsoft Office
12. The Gross Enrolment Ratio (GER) in institutions of higher education in India at present (2015)
is about :
(1) 23 percent (2) 8 percent (3) 12 percent (4) 19 percent
13. Two earthquakes A and B happen to be of magnitude 5 and 6 respectively on Richter Scale.
The ratio of the energies released Ez/E, will be approximately :
(1) ~o4 2) ~8 B) ~16 4) ~32
14. Which of the following is not an output device ?
(1) Keyboard (2) Printer (3) Speaker (4) Monitor
15. Which of the following is not open source software ?
(1) Apache HTTP server (2) Internet explorer
(3) Fedora Linux (4) Open office
coo [ [FERHRMITARIN] :
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T Ay e SESATFIES Sl B qRA HT ANEH 1T T 82

1) ~15% (2) ~3% B) ~6% 4) ~10%
forg 2w # ufq =afea ST Sw=m erfereram € 2
(1) 9 (2) 4 THT @) W g 4) <.

T % SAR-IR THHYE % fAT STkl ! Feas HLA a1 TSHE HIAT FT HgAdl § ?
1) fasmrEEm (2) T (3)  SFeTTHA 4) HIEE

Ra ¥ fafaa wfda feaw 7 s g
(1) 7 i &l 2) 21 A H (3) 24 A HI 4) 2153 &

T W3y ufyEn giafddt freifea § @ g wex § srafeem €2
(1) HeHTg (2) e (3) wTI (4) % fooett

I (Afn) F fon wiF-1 3 HUSR g S © ?
(1) T 2R (2) sreEIfaw (3) TwHTH (4) WEHMETR ATHT

AN (2015) § 9RA 1 3 Toreqor weensti & geahet THIHT ST (GER) T 41 2
(1) 29 (23) gfae@ (2) oM (8) Ufdwd  (3) oW® (12) Wfawa (4) =¥ (19) wfaem

T IFT A IR B oy @hal W wA: 5 3R 6 IRAMT & o) Il Seitedl 1 ST AT
(Eg/E,) foramn gmm 2
(1) ~ 64 2) ~8 (3) ~16 4) ~32

frefafeg # & sF-9 frim gfa 7@ 82
(1) =i-dEre 2) fix (3) T (4) ¥HRR

frefafead & @ =1 FRes Sq IRt T84 8 2
(1) U Ta & 3 b gl (2) T TEIRRT
() THEN AT (4) 30T SifRg

6)]
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16. In the recently launched Air Quality Index in India, which of the following pollutants is not

included ?
(1) Chlorofluorocarbons (2) Carbon monoxide
(3) Fine particulate matter (4) Ozone

17. The total number of central universities in India in April 2015 was :

1) 43 2) 08 3) 14 4) 27

18. Which of the following combinations represent renewable natural resources ?
(1) Oil, forests and tides
2)
(3) Clean air, phosphates and biological diversity
(4)

Fertile soil, fresh water and natural gas
Fishes, fertile soil and fresh water

19. Which of the following factors does not impact teaching ?
(1) Learning through experience
2)
(3) Class room activities that encourage learning
)

(4

Teacher’s knowledge

Socio-economic background of teachers and students

20. Which of the following steps are required to design a questionnaire ?
(a) Writing primary and secondary aims of the study.
(b) Review of the current literature.
(c) Prepare a draft of questionnaire.
(d) Revision of the draft.
Select the correct answer from the codes given below :
(1) (@ (b), (c) and (d) (2) (@) (b) and (c)
@) (@) (c) and (d) 4)  (b), (c) and (d)

21. Which of the following is the highest level of cognitive ability ?
(1) Evaluating (2) Knowing (3) Understanding (4) Analysing

oo [INNHIFRIRRAINIAR
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IR # 7 &t § I fordl T a1y qurern gEhie §, fEfated § 9 s ygue afmfad @ fea
TR ?

(1) FARRIHRETH (2) A AHEEES

(3) g fafaed (iérere) e @) Iem

3T 2015 ® wRa ¥ Fa wa fovafaames 9 -
(1) 43 (2) 08 (3) 14 4) 27

frefafed § § FH-91 HaioM Toaoia Thias Saem e Fd § 2
(1) 9, 99 IR R

(2) IR eI, AN A TR Uhfae

(3) =S A1, Wohed 3R S fafayad

(4) TsfaEr, 3k ger i amn W

freiferd o @ SHF-91 T freror 1 genfad & i ?
(1) ¥E g HiE

(2) fToerh 1 9

(3)  Hen w1 Ut wfdfafeat S W 1 Hiedied widl 8
(4) Tl SR foenfeai =1 ammfse-anfdes oy

TH-JIATEE! IR ) g9 FrAfefed § & #H-8 H5H 33T S i TE9Ihdl § 2
(a) ST & WAHE AR fgdtaes g e |

(b) SIHM Hfecd T THIET |

(c) TTEEH 1 YEY TIR HEAT|

(d) UTEY I YAIEI |

o feu el | =& S w1 = it |
1) (@, (D), () 3R (d) 2 (), (b) 3R ()
3) (), (o) ¥R (d) 4)  (b), (c) ¥R (d)

freifera & @ I et AIdn 1 Swad WR R ?
(1) 9IHA K (2) S (3)  wHII (4) foectwor ST

|

P.T.O.
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22. Achievement tests are commonly used for the purpose of :
(1) Assessing the amount of learning after teaching

(2) Making selections for a specific job

(3)  Selecting candidates for a course

(4) Identifying strengths and weaknesses of learners

23. The conclusions/findings of which type of research cannot be generalized to other
situations ?

(1) Causal Comparative Research ~ (2) Historical Research

(3) Descriptive Research (4) Experimental Research

24. Techniques used by a teacher to teach include :
(a) Lecture
(b) Interactive lecture
() Group work
(d) Self study
Select the correct answer from the codes given below :
(1) (), (b) and (d) (2)  (a), (b) and ()
(3) (@, (), (© and (d) (4)  (b), (©) and (d)

25. A good thesis writing should involve :
(a) reduction of punctuation and grammatical errors to a minimum.
(b) careful checking of references.
(c) conmsistency in the way the thesis is written.
(d)  a clear and well written abstract.
Select the correct answer from the codes given below :
(1) (b), (©) and (d) ) (@ (), (© and (d)
(3) (@), (b)and (©) (4) (@), (b) and (d)

oo JIIREHMATHRIAT D
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22, Syafsy gdemn g =1 A @ forass faw wgaa fee s €2
1) foreror & ovETq e # A F e % fag
(2) Tl faftre wr ?g 9o &9 & fau
(3) Twdl greashn ¥ TARE % =94 & o
) R FIEl % gad 9 gad usl Fi ged & fag

(4

23. Trefafed ¥ & fF9 YR & oTgE9™ & il /frswdl o o= feufaal 9 amm=iiea @l fhan s

TRl ¢ ?
(1) RRUTCHS TR STTHY (2) TUfqefas sTgdy™
(3) AUETHE SFTIHUM (4) AT SIEYE

24. To1eter gR0 1A & TAIQ SUENT T W aTell aehle | A © ¢
(a) AT
(b) AR TR Seia e
(c) wHfE wrd
(d) T
o fau el @ wE S R =TI St
(1) (a), (b) () 2 (@), (b) ()
3) (@), (b), (o) ¥R (d) @) (b), (o) FR(d)

25. T TS MY Y& e H Wi ¢
(a) form fag & ®et &R =Aan =Rl sTyfear|
(b) T I WIS S |
(c) Y Y&y ore" § FRawa|
(d) T R 7=t qXe | foran gen v |

19 fou i 9 T2 W H 9 R
(1) (b), (c) 3R (d) ) (@), (b), (c) &R (d)
3) (), (b) 3R () 4)  (a), (b) 3R (d)

oo [IlI
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Which of the following statements regarding the meaning of research are correct ?

(a) Research refers to a series of systematic activity or activities undertaken to find out the
solution of a problem.

(b) It is a systematic, logical and an unbiased process wherein verification of hypothesis,
data analysis, interpretation and formation of principles can be done.

(c) Itis an intellectual enquiry or quest towards truth.

(d) It leads to enhancement of knowledge.

Select the correct answer from the codes given below :

1) (@), (b), (c) and (d) (2)  (a) (b) and (c)
(3)  (b), () and (d) 4) (@) (c) and (d)

Jean Piaget gave a theory of cognitive development of humans on the basis of his :
(1) Evaluation Research (2) Fundamental Research

(3) Applied Research (4) Action Research

“Male and female students perform equally well in a numerical aptitude test.” This statement
indicates a :

(1) statistical hypothesis (2) research hypothesis
(3) null hypothesis (4)  directional hypothesis

Which of the following statements about teaching aids are correct ?
(a) They help in retaining concepts for longer duration.

(b)  They help students learn better.

() They make teaching learning process interesting.

(d) They enhance rote learning.

Select the correct answer from the codes given below :

(1) (@), (b) and (d) () (@, (), (©) and (d)

(3) (), (band (o (4) (), (@ and (d)

A good teacher is one who :

(1) inspires students to learn
(2) gives useful information
(3) explains concepts and principles

(4) gives printed notes to students

p—
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26. ‘STTEUM’ g 1 e & Geiy A Frfafed # 4 HH-9 wUd 9 © 2
(a) SATHYM 1 e FRel T o FHEE 1 9 aH o fau ¥E @ T8 Fafed wEiwand

1ere el i F@en ¥ 1

(b) IE U Hafeerd, difcher iR froaer wferan € fad ufteea =1 wdiero, stiwel =1 faerwm,
fagidl &1 =ame 3R @A H1 S gl § |

() IEHA % Ufd dige Sra SAan @ T

(d) THY M ¥ gfg oA T

frefafed e 9 w8t s 1 =9 i

1) (@), (b), (c) 3R (d) ) (@) (b) &R (o)
(3)  (b), (c) ¥R (d) 4) (), (o) R (d)
27. Tr=fafea § 9 f69 YR W @S 3 99 {96 &1 S3meas g fean ?
(1) oA TTHUM (2) dHifaes TIHYH
(3) TR STHY™ (4) forarms STEY™

28. ‘U dEATHa sl Wi § ey a1 Aieen fauned T ¥hE ueeH wd § 1) a8 wed e
Y fhrae! A s 82
(1) HieTsE gRehed (2) ITIEYM GHeT
(3) I YR (4)  foumenes aftshedm

29. fareron wemEes Al & R § freAfafed § § w0-8 Hud 98 €2
(a) o HHTIT YRUT HI A HHY Tob FAC WA H AIE H ¢ |
(b) o fornfefli =1 7=t TE 9 HiEA # Aeg Yl § |
() 3 foreror R stferm wighan &1 U=k et €1
(d) o TR TG FT FihAT T e <t ¢ |

= fou el 9 TR W A1 =797 A
1) (a), (b) 3R (d) @) (), (b), () 3 (d)
3) (@) (b) R () (4)  (b), (c) 3R (d)

30. T 31es et 9B T, W
(1) BE ® W F fa i a2
(2)  SYANT gEAE @ R
(3) Hehedell IR fogidl I T HI@T |

(4) fornfefai =0 qfga eg T@ 2

coo [[IRAUATERIAR]
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Read the following passage carefully and answer questions 31 to 36.

Story telling is not in our genes. Neither it is an evolutionary history. It is the essence of what
makes us Human.

Human beings progress by telling stories. One event can result in a great variety of stories
being told about it. Sometimes those stories differ greatly. Which stories are picked up and repeated
and which ones are dropped and forgotten often determines how we progress. Our history,
knowledge and understanding are all the collections of the few stories that survive. This includes
the stories that we tell each other about the future. And how the future will turn out depends
partly, possibly largely, on which stories we collectively choose to believe.

Some stories are designed to spread fear and concern. This is because some story-tellers feel
that there is a need to raise some tensions. Some stories are frightening, they are like totemic
warnings : “Fail to act now and we are all doomed.” Then there are stories that indicate that all
will be fine so long as we leave everything upto a few especially able adults. Currently, this trend
is being led by those who call themselves “rational optimists”. They tend to claim that it is human
nature to compete and to succeed and also to profit at the expense of others. The rational optimists
however, do not realize how humanity has progressed overtime through amiable social networks
and how large groups work in less selfishness and in the process accommodate rich and poor, high
and low alike. This aspect in story-telling is considered by the ‘Practical Possibles’, who sit between
those who say all is fine and cheerful and be individualistic in your approach to a successful
future, and those who ordain pessimism and fear that we are doomed.

What the future holds for us is which stories we hold on to and how we act on them.
Answer the following questions :

31. Rational optimists :
(a) Look for opportunities.
(b)  Are sensible and cheerful.
(c) Are selfishly driven.
Identify the correct answer from the codes given below :
(1)  (b) and (c) only (2) (a), (b) and (c)
(3) (a) only (4) (a) and (b) only

32.. Humans become less selfish when :
(1) they work in solitude (2) they work in large groups

(3) they listen to frightening stories (4) they listen to cheerful stories

oo [INRHIFRIRRRINIAR
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Frfafaa o= i g Ydes ufet X 31 | 36 7 % WYH! & ST ST :
FHATEET FAR 514 H 72 ¢ 1 I% Tohmaar sfaem off 7€ €1 g% 9% 9 § S g AWd oA ¢ |
T FT A= H1EAH § WG wedt ¢ | fondt fosie sree =1 ufomm wen &+ fafay w4 § v
a1 B, T o A @ #ed © 1 Hefi-welt 37 el B ait SR S €1 fRE et 1 ared 8 W E oI
Y AT ST @ ¢ a1 FRE e i Bie fean man o7 yyen fen S § s sgen 7w fruifa 2 ? e e
Fq wfa 11 BAR 3faer, I SR w9 - A @it F9 welE % 9ue € S Sifad wa § 1 39 3 FHeitar

off TS © S g9 9 o 9N § Toh-go &l Fed ¢ | SR 9ot &1 g Ig ST stean Syed: =i
®Y 9 3 FHRAC o = W R Far § 59 R gum amfes €9 9 favary g g

FS TRl o e IR a1 e & forg 7E St €1 T aia R $w wen g TE Hegd R
F o T2 779 Te1 3 1 TRRd § | TS ST FHEITA! BIdl ©, o SIHT e st et § ¢ ¢ oreft Fw e
T 1 &1 T T B S ! 39 o1 FS UE! FHRlA1 eidl § o 39 o1 1 IR Fehd Hd ¢ [ g9
FS 3T 2 A B0 9 F© Ty &9 F I T Iah! o W B < | 9 T I8 YIra = i gRI
T <TG 1 & § il 370 3Taaht ‘' fadieht STmanet’” hed €1 o 9% STa1 hid © foh Yfqeaqet T, Tha el

3R T T HUd R A A1 & TG W@YE 1 gl fadeh! STRIETd I8 3TvE TE & fh ug
I AH-a & H1eA Y Ted 3 999 % W HY WA Hi 2§ 3R Y 9 GAS 1 g FAqq @
T Hed AT T a0 U H oA TR 9 T - B G 9 Y 5 GHIEISG F1 R | HA-A
39 IR W SATeRINe weTeEl | g Ta foRat ST €, ST 37 @ o §E 1 AT S9N © S 9% Hhed § 1
el Sh-31% B, G W@ IR gaEg ufesr & fau o sqarRr § sAfaqandt s 3R 3 < st fremmere @ik
3 1 AT AT ©, o IE A & foh & Teleh] Fel191 &l ST |

AR wfass g% ® T &0 fovd Fer o1 o1 9@ & IR 39 S4 W 79 e @ %9 = §1

Frefafaa wvat o S it :
31. fooet semEre
(a) 3TFEd &1 e o WA 2
(b) HISTISA TR JoE &l ¢

() wneffdaE

= fﬁ"l @ T TE TR ?ﬂ'ﬁrl'q :

(1) e (b) ¥R (c) 2 (@) (b) ¥R (o)
(3) R (a) (4) I (a) 3R (b)

32, WS w9 weff g ¥ e
(1) o T HH H T ) I TR H wE FW T
(3) A S FHEITA A (4) 9 ISR FwEITEl g ¥
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‘Practical Possibles” are the ones who :
(1) are cheerful and carefree (2)

(3) are doom-mongers (4)

Story telling is :
(1)  the essence of what makes us human (2)

(3) a science 4)

Our knowledge is a collection of :

(1) some important stories

2)

(3) some stories that we remember
)

(4) a few stories that survive

IV' CAREERINDIA

follow Midway Path

are self-centred

an art

in our genes

all stories that we have heard during our life-time

How the future will turn out to be, depends upon the stories ?

(1) Designed to make prophecy
2)
(3)  Which are repeatedly narrated
)

We collectively choose to believe in

Designed to spread fear and tension

At present a person is 4 times older than his son and is 3 years older than his wife. After
3 years the age of the son will be 15 years. The age of the person’s wife after 5 years will

be :
(1) 50 (2) 42 (3)

48 (4) 45

Among the following statements two are contradictory to each other. Select the correct code

that represents them :

Statements :

(a) All poets are philosophers.

(b) . Some poets are philosophers.

(c)  Some poets are not philosophers.
(d) No philosopher is a poet.

Codes :

(1) (b) and (c) (2)  (a) and (b) ®)

Ju—y
S

(@) and (d) (4) (a) and (c)
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33. ‘forarcass durer’' I € ¢
(1) T SR JEE B ¥ (2) HEEHE W Fe € |
(@) fam s A FHA AA A Sl (4)  STH-Hid T 2|

34, FHl oA FEH A T2
(1) TH dd S eH HFd 7T © (2) TH Fall
(3) U faam (4) TIRSMHAT

35. BN M = # | frgs 9 ®?
1) F3 TEAYY FelTai |
) 3| wEEr 5 g ST Sfied e § g ¥
(3) T TH! FaEl (9= e a8 L © |
(4) T FHEIEr S Sifad &l ¢ |

36. I o STYR T AN Hfasd HEl grm 2
(1) ofg= s & fau fowfia #1 S €1
(2) TW urfesk 9§ fovamd &1 =997 FW
(3) S IR-9R FE AT B |
(4) 9 IR T e & fau fawfyg #5t S E )

37. o4O B U safad oT9H 9 ¥ IR A TSl ® ST ST et ¥ 3 Wi 9ISl §, 3 WA % S1E ST 9IS i
3 15 T 2 ST | 39 A 1 Toit Sl T 5 91 971G feha 1 gRit 2
1) 50 (2) 42 (3) 48 (4) 45

38. frefafad wedl 4 | & THh-g & faUHh B 1 ¥& Fe 997 ST S 9l W &1 gfafifae w2
h A
(a) |+ wfa <RI B
(b) FS Hid IEIH T |
(©) HB hid ik T8 B |
(d) =% ot Inife wfa 72 S
%<
1) (b) 3R () 2)  (a) ¥R (b) (3) (a) ¥R (d) 4) (a) ¥R ()

(
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In an examination 10,000 students appeared. The result revealed the number of students
who have :

passed in all five subjects = 5583
passed in three subjects only = 1400
passed in two subjects only = 1200
passed in one subject only = 735
failed in English only = 75
failed in Physics only = 145
failed in Chemistry only = 140
failed in Mathematics only = 200
failed in Bio-science only = 157

The number of students passed in at least four subjects is :

1) 7900 2) 6300 (3) 6900 (4) 7300

Which of the following is not a principle of effective communication ?
(1) Strategic use of grapevine (2) Persuasive and convincing dialogue

(3) Participation of the audience (4) Omne-way transfer of information

In communication, the language is :
(1) The non-verbal code (2) The verbal code

(3) Intrapersonal (4)  The symbolic code

When the purpose of a definition is to explain the use or to eliminate ambiguity the definition
is called :

(1) Persuasive (2) Stipulative (3) Theoretical (4) Lexical

A deductive argument is invalid if :

(1) Its premises and conclusions are all true

—~~

2) Its premises and conclusions are all false
(3) Its premises are true but its conclusion is false

Its premises are false but its conclusion is true

y
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T T&T | 10,000 foraned S 1 wian %t =ifod B W fomnfel=i 1 9= 59 TR ® -

Tft urel fawe  9e g9 9Tl e = 5583
T fawal § 9% BH aTell sl e = 1400
1 fawal & gwat B Al & Se = 1200
e fowg § wa B9 arell S gen = 735
HIA SIS fawa § TR S ATl bl FEA = 75

Faat Hifae fawa & srwe 81 el i e = 145
Fadt WA fawa § sTawa 89 arel sl ge = 140
Shad T fawa § STHwa 9 aTal il HeA = 200
o Sig fo fowg # o9%a g1 9l & e = 157

%9 | %9 =R fawdi § gha 31 ol faenfef @t den g
(1) 7900 (2) 6300 (3) 6900 4) 7300

freafafed § @ 9 g9t gevo 1 fagra 7@ 2 ?

(1) U9aTET T WMEITAR ST (2) TIIHRR SR favamices st
(3) draret & wRfQ (4) I T THATRN =0

(1) TR F2 ) @ %

ORERERIEED 4) TdEE Fe

TF IR T ITTF STAF FHI TR FHEAT A1 STEAAT ST HIF QT FKAT el © ar T g
Wﬁﬁ%:

(1) YIIsR (2) IS 3) Fgif<sw (4) s

T TR ae TaY 2 § afe

(1) 38F uR 9 R fed goft o )
() HH SMYR a1 iR fend 9+ft e/ B
(3) THH SMUR I T W] (kY 70 €|

(4) THH MR I THA g ke T F
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Which of the following are the characteristic features of communication ?
(a) Communication involves exchange of ideas, facts and opinions.

(b) Communication involves both information and understanding.

(c) Communication is a continuous process.

(d) Communication is a circular process.

Select the correct answer from the codes given below :

1) (@, ®), © and (d) () (@), (b) and (©)

(3) (@), (b) and (d) (4) (), (@) and (d)

Which of the codes given below contains only the correct statements ? Select the code :
Statements :

(a) Venn diagram represents the arguments graphically.

(b) Venn diagram can enhance our understanding.

() Venn diagram may be called valid or invalid.

(d) Venn diagram is clear method of notation.

Codes :
1) (@), (¢) and (d) (2) (a), (b) and (c)
(3) (a), (b) and (d) (4) (b), (c) and (d)

The next term in the series is :
2,5,9,19, 37, ?
(1) 80 (2) 73 3) 75 4) 78

Inductive reasoning is grounded on :
(1) Harmony of nature (2) Integrity of nature

(3)  Unity of nature (4)  Uniformity of nature

If we want to seek new knowledge of facts about the world, we must rely on reason of the
type :
(1) Physiological  (2) Inductive (3) Deductive (4) Demonstrative

p—
(o]
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frefafad ¥ @ =1 g8mw it fagman €2

(a) TEu H fourl, qedt oiR wdl 1 STRH-e Wik ¢ |
(b)  TEU H g 3 qHe < A ¥

(c) TV T Tad UHAT ¥

(d) EE T I UihA S

= ST 7T FHi | HEl IR HT FAT HIWC
1) (@), (b), (c) 3R (d) 2) (@) (b) &R (o)
3) (), (b) &R (d) (4) (b, (c) 3R (d)

T2 53 73 %2l ° | fFad Fad A& woH IO § 2
%Y :

(a) O NG k! I G ¥ F Fefefa w1 7
(b) I G TAR HHHA I e Hehll © |

) O NG I Y AT T el S Gehell B |

(
(d) I TG Tohd-T5fd A T TIH T |

%<

1) (), (© ¥R (d) (2) (), (b) 3R (c)

(3) (a) (b) ¥R (d) 4). (b), (c) 3R (d)

TG SfEe F STl HE w4 2 2

2,5,9,19, 37,7

(1) 80 (2) 73 (3) 75 (4) 78

AT deh f=ifeRd § 9 forg o s ©2
(1) THfd & G (2) YFid ® srEUEdl
(3) Ul HI THhal (4) YHM H FHET

Ifc &9 fova o o T 9241 it T2 TSR YTH HH &I R L a 79 9§ 9 forg R &) gh-3fe
T 9T Y ?

(1) RR foum gwreft (2) TS (3) frmATTs (4) YSEHATHS

-
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Effectiveness of communication can be traced from which of the following ?
(a) Attitude surveys

(b) Performance records

(c) Students attendance

(d) Selection of communication channel

Select the correct answer from the codes given below :

(1) (@), (b) and (d) ) (@, (), (©) and (d)

(3) (), (b) and (c) (4)  (b), (0) and (d)

One day Prakash left home and walked 10 km towards south, turned right and walked
5 km, turned right and walked 10 km and turned left and walked 10 km. How many km will
he have to walk to reach his home straight ?

1) 30 2) 10 (3) 20 @) 15

A girl introduced a boy as the son of the daughter of the father of her uncle. The boy is
related to the girl as :

(1) Son (2) Brother (3)  Uncle (4) Nephew

In certain code MATHURA is coded as JXQEROX. The code of HOTELS will be :
(1) ELIPQB (2) LEQIBP (3) ELQBIP (4) LEBIQP

The term “grapevine’ is also known as :

(1) Horizontal communication (2) Downward communication

(3) Informal communication (4) Upward communication

Assertion (A) Formal communication tends to be fast and flexible.

Reason (R) : Formal communication is a systematic and orderly flow of information.
(1) (A) is false but, (R) is correct

(2) - Both (A) and (R) are correct and (R) is correct explanation of (A)

)
(3) Both (A) and (R) are correct, but (R) is not correct explanation of (A)
)

(4) (A) is correct but, (R) is false

add | TR0 2
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freAfafed & & fHad T 1 gresiicrdr T qa1 T ST Gl © ?
(a) SAfvafa weem

(b) = FroaeA e

(c) Tormferi =t 3ufeefa

(d) TEH HIEEH & =4I

o feu el @ wEl ST R =FA ST
1) (a), (b) 3R (d) @) (), (b), () 3 (d)
3) (@) (b) &R (o) (4)  (b), (c) 3R (d)

T e WohTet =R | Sl ¥ SR gferor & 10 fom . = 7, < gear ¥ o) 5 T = 7, o e
T 3R 10 for. 1. wreran € R ad g 10 For Y. 9eran €1 T o709 R U= % forw <8 faha fob .
T T ?

1) 30 @) 10 (3) 20 4) 15

T TSh! 3 Tk A 1 U= feorn foh o SqF iwa & fuan &t 92t &1 A1 8, dl AASH! ol ASH
Y fear gam?

(1) & (2) wE (B) & (4) ST

feret e ¥ MATHURA &1 JXQEROX. f7&fta &ar €, HOTELS foar gr f&fua &ar 8 2
(1) ELIPQB (2) LEQIBP (3) ELQBIP (4) LEBIQP

‘Yqare’ (SrEedn) wse feiferd § 8 feg w9 § off ST S ® 2

(1) &fds "= 2) = F AR FER

(3) STHMT=IR® FER (4) FW A AR FAR

afyeRem (A)  :  SiTenRe wEm @fd SR er=ier BT =feT |

e (R) : AT h ST T T ArsTeg 3R Safeed yare T

1) (A) HA , T (R) ¥ B

) T (A) 3R (R) T § 3T (R), (A) T T& TR |
(3) T (A) ¥R (R) ¥ &, T (R), (A) F1 Tl TR0 T & |
(4) (A) ¥ T, W (R) 39A €|
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Question numbers 55 to 60 are based on the tabulated data given below :

A company has 20 employees with their age (in years) and salary (in thousand rupees per month)
mentioned against each of them :

Sala Sala
S.No. | .. Age (in thousantlyrupees S.No. | .. Age (in thousanzlyrupees
(in years) (in years)
per month) per month)
1. 44 35 11. 33 30
2. 32 20 12. 31 35
3. 54 45 13. 30 35
4. 42 35 14. 37 40
5. 31 20 15. 44 45
6. 53 60 16. 36 35
7. 42 50 17. 34 35
8. 51 55 18. 49 50
9. 34 25 19. 43 45
10. 41 30 20. 45 50
55. What is the average salary (in thousand per month) in the age group 40 - 50 years ?

56.

57.

58.

59.

60.

1) 36.5 2) 35 (3) « 4255 (4) 405

What is the fraction of employees getting salary less than the average salary of all the
employees ?
(1) 47% (2) 45% (3) 50% (4) 55%

What is the frequency (%) in the class interval of 30 - 35 years ?
(1) 35% (2) 20% 3) 25% 4) 30%

What is the fraction (%) of employees getting salary = 40,000 per month ?
(1) 32% (2) 45% (3) 50% (4) 35%

What is the average age of the employees ?
(1) 453 years (2) 40.3 years (3) 38.6 years (4) 47.2 years

Classify the data of age of each employee in class interval of 5 years. Which class interval of
5 years has the maximum average salary ?

(1) 50 - 55 years (2) 35 -40 years (3) 40 - 45 years (4) 45 - 50 years

-00o0-
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U9 HEAT 55 ¥ 60 ek Ao fod T aeiied g1 WX 3nenfia ¥
T HE A 20 FHER &1 ST 39 (I8t #) IR 9d7 (9fd 71E 39k +9d #) 9 fean mn g

) £ qad . 30 qa
% 9. . . |wmE. . .
(autH) | (vid AE TR €U ) (autd) | (vfd AE TR €U )
1. 44 35 11. 33 30
2. 32 20 12. 31 35
3. 54 45 13. 30 35
4, 42 35 14. 37 40
5. 31 20 15. 44 45
6. 53 60 16. 36 35
7. 42 50 17. 34 35
8. 51 55 18. 49 50
9. 34 25 19. 43 45
10. 41 30 20. 45 50
55. 40 -50 96l & g wE | Aed aaq (9fd 7iE g9 T H) fham g7
(1) 36.5 (2) 35 (3) - 42.5 (4) 40.5
56. HUEIET H1 fRaT WM Fa1 FHARAT % Td a7 W HH I AT T 2
(1) 47% (2) 45% (B) 50% (4) 55%
57. 30 - 359l % o ST B A (%) T L2

1) 35% @) 20% 3) 25% 4) 30%

58. HHTE! 1 foRa 9 (%) WA AE = 40,000 AT I F @R ?
1) 32% @2) 45% 3) 50% (4) 35%

59. HH=IRAl FT fHd 37 R ?
(1) 453 94 (2) 403 9d (3) 38.6 o (4) 472 9"

60. TH HHAR T 3H o STh< HI 5 T & T & aF H aiehd i | g o7 Tt | Aferepad
frad o wefeia § 2
(1) 50 -55ad (2) 35-40TH (3) 40 - 4594 (4) 45-509d

-00o0-
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